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[19-20]                            No. of printed pages: 05 

SARDAR PATEL UNIVERSITY 

B.COM (III SEMESTER) (CBCS) EXAMINATION 

2012 

Monday, 26
th 

November 

10.30 am - 12.30 pm 

UB03ECOM01/13: ADVANCE ACCOUNTING & AUDITING : PAPER- V 

Ly$g NyZ : 60 
_p¢^ : S>dZu bpSy>_p Ap„L$ S>¡ s¡ âñ_p„ NyZcpf v$ip®h¡ R>¡. 
 
â.1 sp. 31-3-2012_p„ fp¡S>_u _uQ¡ Ap`¡g bpL$uAp¡ s\p h^pfp_u dplusu `f\u L$_ujp   

 (15) 

 rgduV¡$X$_y„ `pLy$ kfh¥ey Dcp `ÓL$dp„ S>ê$fu `furiô$ krls s¥epf L$fp¡. 
 

D^pf bpL$uAp¡ ê$p. S>dp bpL$uAp¡ ê$p. 
`pOX$u 90000 B¼huV$u i¡fd|X$u 700000 
bpL$u láp 20000 12%_p Nufp¡ X$ub¢Qf 240000 
dL$p_p¡ (d|.L$u. ê$p. 7 gpM) 500000 i¡f âurded 100000 
e„Óp¡ (d|.L$u. ê$p. 8 gpM) 600000 i¡f S>áu Mpsy 40000 
L$õV$d X$u`p¡TuV$ 80000 Ål¡f \p`Z 150000 
kfL$pfu Ådu_NufuAp¡ 120000 b¡ÞL$ Ap¡hfX²$pãV$ 70000 
A¡X$hpÞk V¡$n 54000 X$uhuX„$X$ kdsygp c„X$p¡m 60000 
ApMf õV$p¡L$ 200000 kpdpÞe A_pds 200000 
Np¥Z L„$`_u_p i¡f 160000 k|Qus X$uhuX„$X$ 120000 
d_ujp rg._p i¡f ê$p. 10_p¡ 
A¡L$ A¡hp i¡fv$uW$ ê$p. 8 
cf`pB \e¡g 

 
 

80000 

_l] d„Nph¡g X$uhuX„$X$ 
õV$pa âp¡huX„$X$ a„X$ 
_ap _yL$kp_ Mpsy 

20000 
95000 

155000 
fp¡L$pZ `f QY¡$g ìepS> 30000 d|X$u A_pds 30000 
dpN®õ\ dpg 40000 g¡Zv$pfp¡ 154000 
õV$p¡k® A_¡ õ`¡f`pV®¹$k 20000 v$¡hu lŸ„X$uAp¡ 32000 
âp\rdL$ MQp® 32000 OpgMp^ A_pds 28000 
`fQ|fZ v$¡hpv$pfp¡ 
ANpD\u Q|L$h¡g hudp¡ 

168000 
10000 

X$ub¢Qf `f QY¡$g A_¡ v$¡hy„ 
\e¡g ìepS> 

18000 

fp¡L$X$ A_¡ b¢L$ 55000 L$fh¡fp_u Å¡NhpB 88000 
bp„l¡^fu L$dui_ 11000   
g¡Zu l„ŸX$uAp¡ 30000   
 230000

0 
 230000

0 
 

 h^pfp_u dprlsu : 
1) L„$`_u_u kÑphpf d|X$u ê$p. 20 gpM R>¡ S>¡ ê$p. 10_p¡ A¡L$ A¡hp B¼huV$u i¡f ^fph¡ R>¡. 
2) `|Z® cf`pB \e¡gp 5000 i¡f fp¡L$X$ rkhpe_p„ Ah¡S>\u Ap`¡gp R>¡. 
3) bpL$u lápdp„ k„QpgL$p¡ `pk¡\u ê$p. 6000_p¡ kdph¡i \pe R>¡. 
4) v$¡hpv$pfp¡ `¥L$u ê$p. 40000 R> dpk L$fsp h ŷ kde\u g¡Zp R>¡. 
5) hj® v$frdep_ kpdpÞe A_pds Mps¡ s\p X$uhuX„$X$ kdsygp c„X$p¡m Mps¡ A_y¾$d¡ ê$p. 

20000 A_¡ ê$p. 5000 apmh¡gp R>¡. 
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6) ê$p. 25000_u lŸ„X$uAp¡ hV$ph¡gu R>¡, S>¡ S|>_, 2012dp„ `pL$hp_u R>¡. 
A\hp 

â.1 sp. 31-3-2012_p„ fp¡S>_u _uQ¡_u bpL$uAp¡ s\p h^pfp_u dprlsu `f\u ê$Qu rgduV¡$X$_y„   (15) 

 _ap _yL$ip_ Mpsy s\p `pLy$ kfh¥ey Dcp `ÓL$dp„ `qfriô$ hNf_y„ b_php¡. 
 

D^pf bpL$uAp¡ ê$p. S>dp bpL$uAp¡ ê$p. 
bpL$u láp 5000 B¼huV$u i¡fd|X$u 500000 
v$¡hpv$pfp¡ 110000 i¡fS>áu Mpsy 7500 
X$ub¢Qf `f hV$ph 
g¡Zu lŸ„X$uAp¡ 
b¡ÞL$ Ap¡hfX²$pãV$ `f ìepS> 

5000 
25000 
8000 

12%_p Nufp¡ X$ub¢Qf 
(sp. 31-3-2016_p„ fp¡S>  
`fs) 

 
 

100000 
OpgMp^ 6000 g¡Zv$pfp¡ 75000 
X$ub¢Qf `f ìepS> 9000 v$¡hu lŸ„X$uAp¡ 15000 
õV$p¡k®-õ ¡̀f`pV®¹$k 2250 L$pQp¡ _ap¡ 385000 
ApMf õV$p¡L$ 43500 _ap _yL$kp_ Mpsy„ (1-4-

11) 
47500 

hudp âurded 3000 L$fh¡fp_u Å¡NhpB(1-4-
11) 

27500 

dL$p_p¡ 250000 b¡ÞL$ Ap¡hfX²$pãV$ 50000 
e„Óp¡ 400000 OpgMp^ A_pds 7500 
dpN®õ\ dpg 2000 kpdpÞe A_pds 25000 
Q|L$h¡g AphL$h¡fp¡ 30000 X$ub¢Qf `fsr_^u 20000 
`Npf 60000 dm¡g hV$ph 6000 
hluhV$u MQp® 65000 i¡f a¡fbv$gu au 2000 
Ap`¡g hV$ph 6750 fp¡L$pZ `f ìepS> 28000 
kp¡ld rg._p i¡f 140000   
kfL$pfu Ådu_NufuAp¡ 100000   
Ap¡X$uV$ au 2500   
X$ub¡. `fsr_^u fp¡L$pZp¡ 20000   
âp\rdL$ MQp® 3000   
 129600

0 
 129600

0 
 

 h^pfp_u dprlsu : 
1) e„Óp¡ s\p dL$p_p¡ `f 10% Okpfp_u Å¡NhpB L$fp¡. 
2) lpg OpgMp^ A_pds ê$p. 10000 fpMhp_u R>¡. 
3) Q|L$hhp_p¡ bpL$u `Npf ê$p. 6000 s\p ANpD\u Q|L$h¡g hudp âurded ê$p. 500 
4) A¡L$ s©suep„i âp\duL$ MQp® s\p A¡L$ `„Qdp„i X$ub¢Qf hV$ph dp„X$u hpmhp_p„ R>¡. 
5) g¡Ï \e¡g `f„sy _l] dm¡g ìepS> ê$p. 2000 
6) Qpgy hj® dpV¡$ L$fh¡fp_u Å¡NhpB ê$p. 60000 fpMhp_u R>¡. 
7) k„QpgL$p¡A¡ kpdpÞe A_pds Mps¡ ê$p. 10000 s\p X$ub¡. `fsr_^u Mps¡ ê$p. 5000_u 

apmhZu L$ep® bpv$ cf`pB \e¡g i¡fd|X$u `f 10% X$uhuX„$X$_u cgpdZ L$fu R>¡. 
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â.2 dp¡ÞVy$ rgduV¡$X$_u sp. 1-5-2011_p fp¡S> _p¢^Zu (õ\p`_p) L$fhpdp„ Aphu A_¡ L„$`_uA¡   (15) 

 sp. 1-1-2011_p fp¡S>\u Qpgy „̂^p¡ Mfuv$u gu^p¡ lsp¡. L„$`_u_y„ sp. 31-12-2011_p 
fp¡S> `yfp \sp hj®_y„ _ap _yL$kp_ Mpsy _uQ¡ dyS>b R>¡. 

      

D^pf ê$p. S>dp ê$p. 
`Npf 46000 L$pQp¡ _ap¡ 135000 
cpXy$ 9000 fp¡L$pZ `f ìepS> 3000 
hudp âurded 
Ap`¡g hV$ph 

1200 
1800 

OpgMp^ `fs 
(hj® 2010dp„ dp„X$u hpm¡g) 

 
1000 

ÅhL$dpg NpX$pcpXy$ 1500   
V¡$guap¡_ A_¡ `p¡õV¡$S> 2700   
Okpfp¡ 4500   
Mfuv$qL„$ds `f_y„ ìepS> 4000   
fp¡L$pZ `f_u Mp¡V$ 1000   
dp„X$u hpm¡g âp\duL$ MQ® 2500   
Ap¡auk MQ® 18000   
Ål¡fps MQ® 21000   
Qp¡¿Mp¡ _ap¡ 25800   
 139000  139000 

 

  _uQ¡_u dprlsu_¡ Ýep_dp„ gB_¡ _p¢^Zu `l¡gp_p¡ s\p `R>u_p¡ _ap¡ L¡$ _yL$kp_ 
v$ip®hsy„ `ÓL$ s¥epf L$fp¡. 

1) â\d ÓZ dpk v$fçep_ kf¡fpi dpkuL$ h¡QpZ Ðepf `R>u_p„ kf¡fpi dprkL$ h¡QpZ L$fsp„ 
bdÏ„ lsy„. 

2) fp¡L$pZp¡ sp. 30-6-2011_p fp¡S> h¡Qu v$¡hpdp„ Apìep lsp„. 
3) `Npfdp„ X$uf¡¼V$f au ê$p. 10000_p¡ kdph¡i \pe R>¡. 
4) Sy>gpB, 2011\u dprkL$ cpXy$ bdÏ„ L$fhpdp„ Apìey„ lsy„. 
5) Ål¡fps MQ®dp„ A¡L$ Ål¡fps A¡S>Þku_¡ hprj®L$ L$fpf AÞhe¡ Q|L$h¡g ê$p. 12000_p¡ 

kdph¡i \pe R>¡. 
6) Mfuv$ qL„$ds sp. 31-8-2011_p fp¡S> Q|L$hhpdp„ Aphu lsu. 

 
A\hp 

â.2 
(A) _p¢^Zu `l¡gp_p„/`R>u_p„ _ap L¡$ _yL$kp_ r_^p®fus L$fhp_u rhrh^ fusp¡ k„rnádp„ hZ®hp¡.  (06) 

 
(b) kde_y„ âdpZ s\p h¡QpZ_y„ âdpZ ip¡^p¡.         

 (05) 

1) „̂^p_u Mfuv$ spfuM    - 1-4-2011 
2) _p¢^Zu_p âdpZ`Ó_u spfuM   - 1-8-2011 
3) „̂^p¡ iê$ L$fhp_p„ âdpZ`Ó_u spfuM  - 30-9-2011 
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4) sp. 31-12-2011_p„ fp¡S> `yfp \sp kde_p„ hprj®L$ rlkpbp¡ s¥epf L$ep®. 
5) `l¡gp Qpf dpk_y„ Ly$g h¡QpZ bpL$u_p„ kde_p„ Ly$g h¡QpZ_p„ 60% lsy„. 
 
(L$) _p¢^Zu `l¡gp_p„/`R>u_p„ _ap L¡$ _yL$kp__u NZsfu L$fsu hMs¡ _uQ¡_p„ MQ®_u apmhZu   (04) 

 L¡$hu fus¡ L$fip¡ ? 
1) X$ub¢Qf `f_y„ ìepS>  2) rdëL$s h¡QpZ_u Mp¡V$ 3) R>`pdZu A_¡ 

õV¡$i_fu 
4) OpgMp^    5) X$uf¡¼V$f au   6) ÅhL$dpg NpX$pcpXy$ 
7) X$uguhfu hpl__p„ MQ®  8) h¡QpZL$sp® (k¡ëkd¡_)_y„ L$dui_ 
 
â.3 rkL$ rg._y„ sp. 31-3-2012_y„ `pLy$ kfh¥ey _uQ¡ dyS>b R>¡.       (15) 
 

S>hpbv$pfuAp¡ ê$p. rdëL$sp¡ ê$p. 
B¼huV$ i¡fd|X$u: ê$p. 10_p¡ 
A¡L$ A¡hp `|Z® cf`pB i¡f 

 
250000 

`pOX$u 
S>du_-dL$p_ 

50000 
350000 

8%_u ¼ey. â¡a. i¡fd|X$u ê$p. 
100_p¡ A¡L$ A¡hp `|Z® 
cf`pB i¡f 
i¡f âurded 

 
 

200000 
50000 

ar_®Qf 
fp¡L$pZp¡ (bÅf qL„$ds ê$p. 80000) 
õV$p¡L$ 
v$¡hpv$pfp¡ 

50000 
100000 

95000 
40000 

12%_p Nufp¡ X$ub¢Qf 200000 b¡ÞL$ rkgL$ 35000 
g¡Zv$pfp¡ 150000 âp\rdL$ MQp® 10000 
k„QpgL$p¡_u gp¡_ 30000 _ap _yL$kp_ Mpsy 150000 
 880000  880000 

 

  Av$pgs Üpfp d|X$u OV$pX$p_u _uQ¡_u ep¡S>_p d„S|>f L$fhpdp„ Aphu. 
1) B¼huV$u i¡f i¡fv$uW$ ê$p. 2 ky^u OV$pX$hp Äepf¡ â¡afÞk i¡f i¡fv$uW$ ê$p. 20\u OV$pX$hp. 
2) d|X$u OV$pX$p dpV¡$ i¡f âurded_p¡ D`ep¡N L$fhp_p¡ R>¡. 
3) X$ub¢Qf ^pfL$p¡A¡ `p¡sp_p„ v$php_p„ 40% S>sp L$ep® A_¡ bpL$u_p„ v$¡hp_u `sphV$ `¡V¡$ s¡d_¡ 

14%_p„ X$ub¢Qf (ê$p. 100_p¡ A¡L$) Ap`hp. 
4) g¡Zv$pfp¡A¡ s¡d_p„ v$php `¥L$u 20% S>sp L$fhp_y„ _½$u L$ey¯. 
5) k„QpgL$p¡A¡ s¡d_u gp¡__u A„rsd `sphV$ `¡V¡$ 80% fL$d_p„ B¼huV$u i¡f s\p 10% fL$d 

fp¡L$X$dp„ õhuL$pfu. 
6) _ap _yL$kp_ Mpsy A_¡ b^u S> AÖíe-AhpõsrhL$ rdëL$sp¡ dp„X$u hpmhp_u R>¡. 
7) fp¡L$pZp¡ s¡d_u bÅf qL„$ds¡ v$ip®hhp_p„ R>¡ A_¡ ar_®Qf_y„ `y_: d|ëep„L$_ ê$p. 21000 L$fhpdp„ 

Apìey„. 
8) d|X$u OV$pX$p Mpsp_u bpL$u_u fL$d S>du_-dL$p__p„ `|_:d|ëep„L$_ Üpfp D`ep¡Ndp„ g¡hp_u 

R>¡. 
  Apd_p¢^ gMp¡ A_¡ Ðepfbpv$_y„ `pLy$ kfh¥ey b_php¡. 

A\hp 
â.3 
(A) d|X$u ^V$pX$p¡ A¡V$g¡ iy„ ? d|X$u OV$pX$p A„N¡ L„$`_u ^pfp_u Å¡NhpBAp¡ A_¡ d|X$u OV$pX$p_u   

 (09) 

 rhrh^ fusp¡ QQp£. 
(b) d|X$u OV$pX$p_u ep¡S>_p AÞhe¡ _uQ¡_u v$f¡L$ bpbs A„N¡ Apd_p¢^ gMp¡.     (06) 

1) A¡L$ L„$`_u_p„ Qp¡`X$pdp„ g¡Zv$pfp¡ ê$p. 150000 A_¡ S>du_ ê$p. 60000 v$ip®h¡g R>¡. 
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g¡Zv$pfp¡A¡ s¡d_p v$¡hp_p„ 30% S>sp L$ep® A_¡ v$¡hp_u A„rsd `sphV$ `¡V¡$ S>du_ õhuL$pfu. 
2) A¡L$ L„$`_u_u 12%_u ¼ey. â¡afÞk i¡fd|X$u ê$p. 200000 R>¡. ÓZ hj®_y„ â¡afÞk i¡f 

X$uhuX„$X$ Q|L$hhp_y„ bpL$u R>¡. â¡afÞk i¡flp¡ëX$fp¡ bpL$u X$uhuX„$X$_p„ 25% _pZp„ fp¡L$X$dp„ g¡hp 
k„ds \ep. 

3) A¡L$ L„$`_u_u blpf `pX¡$g A_¡ cf`pB \e¡g if¡d|X$u ê$p.100_p¡ A¡L$ A¡hp `|Z® cf`pB 
\e¡g 10000 B¼huV$u i¡f_u R>¡. d|X$u OV$pX$p_u ep¡S>_p âdpZ¡ B¼huV$u i¡f i¡fv$uW$ ê$p. 
40 ky^u OV$pX$hpdp„ Apìep. 

â.4 bp¡Nk rgduV¡$X$ sp. 31-3-2012_p fp¡S> õh¥[ÃR>L$ aX$Qpdp„ NB. Ap qv$hk¡ L„$`_u_y„ `pLy$   (15) 

 kfh¥ey _uQ¡ dyS>b lsy„. 
 

S>hpbv$pfuAp¡ ê$p. rdëL$sp¡ ê$p. 
10%_u ¼ey. â¡afÞk 
i¡fd|X$u 

60000 dL$p_ 80000 

B¼huV$u i¡fd|X$u ê$p. 10_p¡ 
A¡L$ A¡hp i¡fv$uW$ ê$p. 8 
cf`pB 

 
 

24000
0 

e„Óp¡ 
ar_®Qf 
fp¡L$pZp¡ 

10000
0 

10000 
70000 

8%_p X$ub¢Qf (sfsp¡ bp¡S>) 50000 õV$p¡L$ 50000 
X$ub¢Qf_y„ bpL$u ìepS> 4000 v$¡hpv$pfp¡ 78000 
`fQ|fZ S>hpbv$pfuAp¡ 14600

0 
fp¡L$X$ A_¡ b¢L$ 24000 

  _ap _yL$kp_ Mpsy 88000 
 50000

0 
 50000

0 
 

  `fQ|fZ S>hpbv$pfudp„ `k„v$Nu_p„ g¡Zv$pfp¡ ê$p. 12000 A_¡ fp¡L$pZp¡_p„ Nufp¡l½$ 
Üpfp kyfnus ê$p. 40000_p„ A¡L$ g¡Zv$pfp¡_p¡ kdph¡i \pe R>¡ S>¡dZ¡ h¡QpZ_p„ ê$p. 
55000 D`Åìep A_¡ h^pfp_u fL$d aX$Qp Ar^L$pfu_¡ `fs L$fu. 

  rdëL$sp¡_u D`S> qL„$ds - dL$p_p¡ : ê$p. 88000, e„Óp¡ - ê$p. 82000, ar_®Qf - ê$p. 
12000, õV$p¡L$ - ê$p. 40000 A_¡ v$¡hpv$pfp¡ - ê$p. 78000. 

  â¡afÞk i¡f_y„ A¡L$ hj®_y„ X$uhuX„$X$ bpL$u R>¡. X$ub¢Qf lp¡ëX$fp¡_¡ sp. 30-6-2012_p 
fp¡S> _pZp Q|L$hpep lsp. 

  aX$Qp_p„ MQ® ê$p. 5240 \ep. aX$Qp Ar^L$pfu_¡ kgpds g¡Zv$pfp¡ `pk¡\u dm¡g 
h^pfp rkhpe_u rdëL$sp¡_u s¡Z¡ D`Åh¡g fL$d_p„ 5%, rb_ kgpds g¡Zv$pfp¡ 
(`k„v$Nu_p g¡Zv$pfp¡ rkhpe) _¡ Q|L$h¡g fL$d_p„ 4% s\p B¼huV$u i¡f^pfL$p¡_¡ hl¢Q¡g 
fL$d_p„ 10% âdpZ¡ dl¡_spÏ„ Ap`hp_y„ R>¡. 

  rg¼huX¡$V$f (aX$Qp Ar^L$pfu)_y„ A„rsd rlkpbu `ÓL$ s¥epf L$fp¡. 
A\hp 

â.4  
(A) sp. 31-3-2012_p fp¡S> Nfub rgduV¡$X$ õh¥[ÃR>L$ aX$Qpdp„ NB. Ap qv$hk¡ s¡_u [õ\rs _uQ¡  

 (08) 

 dyS>b lsu. 
1) i¡fd|X$u: 
 A) ê$p. 100_p¡ A¡L$ A¡hp 1000 `|Z® cf`pB â¡afÞk i¡f 
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 b) ê$p. 10_p¡ A¡L$ A¡hp 10000 `|Z® cf`pB B¼huV$u i¡f 
 L$) ê$p. 10_p¡ A¡L$ A¡hp i¡fv$uW$ ê$p. 8 cf`pB \e¡g 8000 B¼huV$u i¡f 
 X$) ê$p. 10_p¡ A¡L$ A¡hp i¡fv$uW$ ê$p. 7 cf`pB \e¡g 7000 B¼huV$u i¡f 
2) ê$p. 5000_p `k„v$Nu_p g¡Zv$pfp¡ krls Ly$g g¡Zv$pfp¡ - ê$p. 105000 
3) aX$Qp_p„ MQ® ê$p. 3000 
4) rdëL$sp¡_u D`S>_p„ 2% g¡M¡ aX$Qp Ar^L$pfu_y„ dl¡_spÏ„ - ê$p. 4000 
 rg¼huX¡$V$f (aX$Qp Ar^L$pfu)_y„ A„rsd rlkpbu `ÓL$ s¥epf L$fp¡. 
(b) õh¥[ÃR>L$ aX$Qp dpV¡$_p„ k„Å¡Np¡_u QQp® L$fp¡.         

 (04) 

(L$) `k„v$Nu_p„ g¡Zv$pfp¡_u epv$u b_php¡.           (03) 

 

 


